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we have Normal test scores?

or 4™ and 5™ Hour current AP Statistics students
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: :Ghapter 1 Test Scores
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bfﬁhapter 1 Test scores approximately normal? Justify your answer using
-approaches. The group with the most convincing argument will win a prize.
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son 2.2: Do we have Normal test scores?
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apter 1 Test scores for 4t and 5t Hour current AP Statistics students

tudents’ Chapter 1 Test Scores
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Hour AP Students’ Chapter 1 Test Scores
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ibution of Chapter 1 Test scores approximately normal? Justify your answer using
nt approach s. The group with the most convincing argument will win a prize.
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